2017 (8) Roll No:
INTERMEDIATE PART-1 (11™ CLASS)
BIOLOGY PAPER-1 (NEW SCHEME)  (SESSION 2015-2017)

TIME ALLOWED: 2.40 Hours SUBJECTIVE MAXIMUM MARKS: 68
NOTE: - Write same question number and its part number on answer book,

as given in the question paper.
SECTION-I

2 Attempt any eight parts. 8x2=16
(1) Whai kind of interaction are present in tertiary and quaternary structure of Proteins?
{11} Differenliate between Reversible and lrreversible [nhibitors,

(it} What is Lock and Key Model? Why it is rejected”?

(iv)  Whal is the difference between Prosthetic Group and Cocnzyme?

(v What 15 the importance of Physarum Polyeephalum?

vi)  For what Phywophthora infestans are infamous?

ivit)  How Earthworm locomote?

(viti) What are adaptations in animals for aquatic mode of life?

(i¥)  Why Ichinoderms are placed at the top of invertebrates?

(x)  What is the function of Syrinx? In which group il is present?

(x1)  Differentiate between Absorption and Action Spectrum?

{xii)  How did the evolution of Pholosynthesis effect metabolic pathways?

3. Attempt any eight parts, Bx2=16
{i) What is Biome?
(i) Differentiate between Deductive and Inductive Reasoning.

(1) Write salient fearures of Cell Theory.
(iv)  Dilterentiate between Phagocytosis and Pinocyvtosis.
(v What are Choanoflagellates?
(vi}  Write two examples of Brawn Algae.
tvit)  Whatis the Ecological importance of Dinoflagellates?
(viii})  Write name and one character of the giant Amoeba.
(1) What is alternation of generation?
{x) What are Paraphyses? Give their function.
{xi)  Differentiate between Cuticular and Lenticular Transpiration.
{xi}  Differentiate between Arterles and Veins.
4, Attempt any six parts. bx2=112
(i) What is Reverse Transcriptasa? Give its funetion.
{ii) Differcnliate batwesn Lophotrichous and Monetrichous bacteria
(i) Differentiate between Absorption and Assimilation.
(v} Write down the role of stinging cells in hydm.
(v) What happens due to Antiperistalsis?
(vi}  How Carbon diuxide affect the capacity of haemoglobin to combine with enzyme?
(vi)  What is the cause of Lung Cancer?
(viti)  What is Myoglobin? Give its role,
(ix)  Tlustrate Respiratory Distress Svndrome.

SECTION-I11
NOTE: - Attempt any three guestions,
S.a)  Define Cloning. Fxplain its methods and application. | #Z+ =y
(k)  Elaborute Lymphatic System of Man. 4
b.(a) Justify, why Carbon necupies the central position in the skeleton of life? I+ +1++1=4
(b} Discuss any four methods of animal mutrition. LHErltel=4
7.0a)  Write a note on Golgi Bodies. 4
(h) Skeich the Krebs Cyele. L

¥4a)  Wnte a note on common Viral diseases in Pakistan.

{b}  What us alternation of gencration”? Give its significance.

9.a)  Discuss Growth and Reproducrion in Bacteria. 4

(b)  Explain Economic Iosses due to Funei. o
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Note: You have four choices for each ahjective
think is correct, fill that circle in front of that question number.
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BUBBLES are not fi
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PAPER-1 (NEW SCHEME)

OBJECTIVE

The number of species of vaseular plants is:-
(A) 53,19 (B} 19,9 %, (C)17.6 %

i percentage amount of mBNA in & cell is about -

(A) 30— 60 % {B)3 {C)ed - 80 %

I'he enzyme involved in syathesis of Proteins are integral part of-
(B) Mitachondria
Flagelia are composed of:-

(A} Microfilaments  (13) Microtubules

4%
(A} Chloroplast (C) Golgi Complex

(C) [ntermediate filaments

is caused by Oncoviruses,

(A) Influenza (B) Mumps {£) Polio
E. Coli is common example o bacteria,
(A) Cocci (B) Bacilli () Spiral

Phytephthora infestans is a causal agent of disease:-
(A} Late Plight of potatoes (B} Apple Scabbies {C) Wilting

(A Asperpillus (B) Saccharomyces  (C) Penicillium
The acidic froit of Tamarindus indica is rich in;-
(B) Palmatic acid {C) Citric acid

muluse makes valusble pearls,

LA} Acetic acid

(&) Qysier (B} Loliga (C) Octopus
_animals have compound eves.

(4) Moluses {B) Insects {C) Tapewarms

Calvin Cycle takes place in:-

(A) Glyoxysoma  (B) Mitochondria (C) Cytoplasm

Photusynthetic prokarvores lack:-

(A) Cell membrane (B) Chloroplast (C) Rikosomes

e length of Jejunum in man is about:-

(A)24m (B)4.2 m (Chd8m

Mycobacterium tuberculosis causes a dissase known as:-

{A) Asthama {B] Empkvsema (C)TB

Water potential of pure water is maximum, which is:-
(A) Zero (By-1
The protective membrane of human heart is called:-

(C) Myocardium

(C)+1

(A) Pericardium (B) Epicardium

Reoll No.
Number: 246 ] | INTERMEDIATE PART-T (11% CLASS)

(SESSION 2015-2017)
MAXIMUM MARKS: 17

type question as A, B, C and D. The choice which you
Use marker or pen to fill the circles.

hat yuestion. Allempt as many questions
Lype question paper and leave others blank. No credit will be awiprded in case

lled. Do not solve question on this sheet of OBTECTIVE PAPER.

([2)9.4%

(D) 20-30%

(D) Ribosomes

(12} Soft fibrils

(D) AIDS

(D) Granular

(13} Early rotling of potatoes

are used for giving flavour, wroma and characteristic colour 1o some cheese,

(D) Candida

(T} Tartaric acid

() Slug

(1) Earthworms

(12) Chloroplast

(T3} Mitochondria

(D) 5.2 m

i) Lung Cancer

D) + 4

(13} Endorcardium
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Paper Code 2017 (S) Roll No.

246?1 INTERMEDIATE PART-I (11" CLASS)

| Number;
P L

BIOLOGY  PAPER-1 (NEW SCHEME) (SESSION 2015-2017)
TIMEL ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for cach objective type question as A, B, C and D). The cheice which you
think is correet, fill that cirele in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more cireles will result in zero mark in that question. Attempt as many guestions
us given in objective type question paper and leave others hlank. No eredit will be awarded in case
BUBBLES are not filled. Do nat solve question on this sheet of OBJECTIVE PAPER,

i).No.l

(1} The length of Jejunum in man is about:-
(&) 24m (B3 42m (C)4.8m (D)3.2m

(1) Myvobacterium tubsreulosis causes a disease known as:-

(A Asthama (B) Emphyscma TR (D) Lung Canecer
A1 Water potential of pure water is maximum, which is:-
(A) Zaro (B)— 1 (Cy+ 1 (D) +4

1) The protective membrane of hurman heart is called -

(A) Pericardium  (B) Epicardium (C) Myoearditm (D) Endorcardium
(3} Ihe number of species of vascular plants is:-

(A)3314% () 199 % (C) 17.6 % (D194 %
tp The percentage amount ol mRNA in a cell is shout-

(A} 30— 60 %% (B)3-4% (C) 60 — B0 %a () 20 — 30 %

(7} 'Lhe enzyme involved in synthesis of Proteins are integral part of’-
(A} Chloroplust {3} Mitochondria {C) Golg Complex (1) Ribosomes
t4)  Flagella are composed of'-

(A Microfilaments (B) Microtubules (C) Intermediate filaments (1) Solt tibrils

(4 __is caused by Oncoviruses,
(A Influenas (B) Mumps {C) Palio (D) AIDS
(1) E. Coli is common example o bacteria,
{A) Coeei (B) Baci1li {C) Spiral { D} Granular
(1) Phytophthora infestans (s a causal agent of dissase:-
(A) Late blight of potatoes  (B) Apple Scebbies  (C) Wilting (D) Early rolting of potatoes
(12)  are used for giving flavour. aroma and charactoristic colour W suime cheese,
(A} Aspergillus (B) Saccharomyces  (C) Penicillium () Candida

(1%} The acidic fruit of Tamaricdus indica is rieh in:-

(A) Agetic acid (B) Palmatie acid (C) Citrig aaid (I3 Tartane acid
(14 muluse makes valuable pearls,

(A Oysrer (B} Loligo (C) Octopus (11 Slup
(151 animals have compound eyes.

140 Moluses (B Insects {C) Tapeworms (1) Earthworms

(13} Calvin Cycle takes place in:-
(A Glyoxysoma (B Mitochondria {C) Cytoplasm (12) Chlaroplast
(17} Photosynthetic prokarvotes lack:-

04) Cell membrane (B) Chloroplast (C) Ribasomas (¥ Mitochondria

2500bj ) fe)-2017(5)-700  (MULTAN)




2017 (S) Roll Ne.
Number 24695 | INTERMEDIATE PART-1 (11" CLASS)

Paper Code l

BIOLOGY  PAPER-1 (NEW SCHEME)
TIME ALLOWED: 20 Minutes

(SESSION 2015-2017)
OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for cach objective type question as A, B, C and D. The choice which vou
think is enrrect, fill that circle in front of that question number. Use marker or pen to fill the cireles.
Cutting or filling two vr more circles will result in zero mark in that question. Attempt as many questions
ay piven in ohjective type question paper and leave others blank, No credit will be awarded in case
BUBBLES are not filled. Do not solve question un this sheet of OBIECTIVE PAPER.
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are wsed for giving flavour, groma and cheracteristic colour to some cheese.

{A) Asperuillus (B) Saccharomyeezs (C) Penicillicm

I'he avidic fruit of Tamarindus indica is rich in:-
A0 Acetic acid

(B) Palmaric acid {C7) Citric acid

muluse makes valuahle pearls,

A Ohyster i3) Loligo (C) Detopus
_____ animals have compound eves.

LA Moluses (H) Inzects {C) Tapeworms
Calvin Cycle takes place in:-

(A) Glyoxysoma  (B) Mitochondria {C) Cytoplasm
Photasynthetic prokarvoies lack:-

{A) Cell membrane (B) Chloroplast (C) Ribosomes
The length of Jejunum in man is aboul:-

(A)24m (B)4.2m ({C)d.8 m
Myecohacterinm tuberculosis causes 2 disease known as:-
(A) Axthamy (B) Emphysema {()TB

Water potential of pure water is maximum, which is:-

(A) Fero (B)—1 (=1

The protective membrana of uman beart is ealled:-
(C) Myocardium
The number of species of vascular plants is:-

(B) 19.9 % (C)17.6 %

{A) Pericardium (B} Enicardium
(1) 55.1 %
The percentage amount of mENA in a cell is abour-
(A} 30 —60 % (B)3 - 4% (C) 60 — 80 %

he enzvme involved in synthesis of Proteins are integral part of-
{A) Chloroplast (B) Mitochondria (L) Golgi Complex
Flagella are compnsed of-
(A} Microtilaments (B} Microlubules (C) Intermediate filaments
15 caused by Oneovirses,
(B) Mumps

(A Influcneza () Polio

E. Coli is common examyle of bacteria.

(B) Buxilli (C) Spiral

Phytophthora infestans is a causal agent of discase:-

(A} Cocel

iA) Late blight of patatoes  (B) Apple Scabhbies (C) Wilting

(D) Candida

(D) Tastaric acid

() slug

(D) Earlhworms

(11 Chloroplast

(D} Mitochondria

(I)52m

(13} Lang Unncer

(L +4

(D) Endoreardium

(D94

(D) 20 - 30 %

(1Y) Ribusomes

{D) Soft fibnils

(D) AIDS

() Granular

(I3 Harly rotting of potatoes
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"Paper Code _[ 2007(8) Rall No,
M“’”" 2467 INTERMEDIATE PART-I (11" CLASS)

BIOLOGY  PAPER-I (NEW SCHEME) (SESSION 2015-2017)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for ench nbjective type question as A, B, C and D. The choice which you
think is correct, fill thut circle in front of that question number. Use marker or pen to fill the circles,
Cutting or filling two or more cireles will resul in zero mark in that question, Attempt as many questions
as given in ohjective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBIFCTIVE PAPER.
). No.d

L) s vaused by Oncoviruses.

tA) Influenza (B) Mumps {C) Palio (D1 ATDS
(2} L. Coli is common example of _ bacteria

1A Coci (B) Bacilli (C} Spiral (D) Granlar
(3} Phytophtbora infestans is a causal agent of discase:-

(A) Late Blight of potatoes () Apple Scabbies  (€) Wilting {D} Early rotang of potatoes
(4} areused for giving flavour, sroma and chiracteristic colour to same cheese.

(A) Aspergillus (B) Savcharomyces  (0) Penieillium (D) Candida
(5}  The acidic fruit of Tamarindus indica is rich -

(A} Acetic acid (B) Palmatic acid (T} Citric acid (D) Tartaric acid
G muluse makes valuable pearls.

(A) Oyster (B) Loligo (C) Octopus (I¥) Slug
(7) __ amimais have compound eyes,

(A} Moluses (B) Insects (C) Tapeworms {0)) Earthwormns
(B}  Calvin Cyele takes place in-

(&) Glyoxysoma  (B) Mitochondria {C) Cytoplasm (D) Chloroplast
(%) Photosynthetic prokaryores lack:-

(A) Cell membrane (B) Chloroplast () Ribosomes (1) Mitochondria
{10} The lenpth of Jejunun: in man is ebout -

(A} 24 m By 42 m (C)d48m (D)52m
(11} Mycobacterium tuberculosis causes a discase known as:-

(A) Asthama (B) Emphysema ()18 (D) Lung Cancer
{12)  Water potential of pure water is maximum, which js--

(A) Zera (B} -1 (CY+1 (D +4
(13} The protective membrane of human keart is called:-

(A) Perlcardium (131 Epicardium {C) Myocardium (I3} Endorcardium

(14)  The number of species of vascular plants is:-

[AYS30 % (D) 1994 (C)176% (D)94%
{150 The percentage amount of mRNA in a coll is ahous:-

{4130 -60 % (B)3 -4 % (C) 60 - 80 % (D) 20 -30%
(16} The enzyme involved in synthesiz of Profeins are integral part of -

(A) Chloraplast (B Mitochondria () Golgi Complex (D) Ribosomes
(17) Flagella ate composed aft-

(A} Microlllamenis  (B) Microtubules (L) Intermediate filaments (D) Solt (ibrils

25(0b))(Srer dede)-2017(8)-700  (MULTAN)



2017 (8) Roll No:
INTERMEDIATE PART-I (11" CLASS)
BI1OLOGY PAPER-I (OLD SCHEME) (SESSION 2012-2014)
TIME ALLOWED: 3.10 Hours SUBJECTIVE MAXIMUM MARKS: 83

NOTE: - Write same question number and its part number on answer book,
a5 given in the guestion paper.

SECTION-I1
£ Attempt anv eight paris, Ax1=18

(i) Define Heat capacily of Water.
(i) Grive four characteristics of Enzymes.
(i) How does Pepsin differ from Pepsinogen?
(iv)  Infferentiate hetween Competitive and Non Comipetitive Inhibitors
(v) What is Histoplasmosis? How is it caused?
{vi}  State Association shown by Mycorrhizae.
{vill  What do vou know about Spiral and determinate Cleavage?
(viii) Define Nematocvsts. Give their functions.
(ixi  What is Polymaorphism? (five an cxample.
(%) Iinumerate four parasitic adaptations in platyhelminthes.
(x1)  Give molecular formulac of Chlerophyll a & b,
ixii)  What do you know about Phatalysis?
6./ Attempt any eight parts. 8x2=16
() Differentiate berween Population and Community.
diy  Differentiate between Deductive reasoning and [nductive reasoning.
(1) Write salient features of Cell Theory.
{ivi  What is the chemical composition of Plasma Membrane?
(v Write two characteristies of Amocbae.
(vi)  What are Trichonymphase? Where do they live?
(vil)  How ciliates differ from other protozoans?
(viti}  Compare chemical composition of test of foraminifera and actinopods.
{ix) What is Alternation of Generations?
(x) Why Sparophyte ol Anthocerapsida is considered better than Bryopsida and Hepaticopsida?
(x1)  Differentiate between Pulmonary circularion and systemic circulation.
(xii)  Differentiate between Open und Closed Circulatory System,
4. Attempt any six parts. 6x2=12
(1) Give the bivlogical classification of Corn,
(i) Differentiate berween Antiseptics and Disinfectants.
(i)  What ure Fluid Feeders? Give an example.
(iv) What is Botulism?
(v} What is Pyrosis or Heart burn?
(vi)  How air is better respiratory medium than water?
(vii)  Define Photorespiration Process.

(viti]  Write the function of Myoglobin.

(ix)  Give the percentage composition of Oxyszen and Carbon dioxide in the inhaled and exhaled air.
P.T.O.




{2)

SECTION-11

NOTE: - Attempt any three questions of the following:-

S{a} Definc Phyletic Lineage. Lxplain in detuil. 4
(h)  Define Transpiration. Explain any one theory for opening and closing of stomata. 4
G.(2)  Describe Monosaccharides. 4
(h) Explain Digestion in Amocha. 4
7{ay  Desenbe structure and function of Mitochondna. 4
(by Describe the Non-cyclic phosphorylation in detail. 4
Ria}  How HIV is transmitted? Sketch its infectious evele. 1+3
(by  What are Bryophytes? Explain their land adapation. L+=3
Yial Classity the bacteria on the basis of Flagella, 4
(b)  Write a note on Feonomic Gains due to Fungi. 4

SECTION-II (PRACTICAL)

10.  Attempt any three parts.

(A)(1) You are provided with glucose and benedict reagent. Write biochemnical test for glucuse. 3
(11} Iniferentiate hetween aldo and keto sugar. 2
(B3(1)  You are provided with a flower of Lathyrus Odoratus.
Describe its following parts in technical lerms,
(1) Calyx (1i) Corolla (iii} Androecium 3
(i) Differentiate between Complete and [ncomplete Flower. 2
() Sketch labelled diagram of Digestive System of Cockroach, 5
(D2).(1) Devise an experiment to show the etfect of different factors on the rare of transpiration.
Write down apparatus, procedure and possible observations. 3
(1i) What is the effect of humidity on the rate of Transpiration? 2
(E)  Write identification reasons [or each of the following specimen;- 3

(1) T.5 of Dicot Root (1) Euglenu (iii] Volvox

(1v) Funaria female gametophyte (v) Adiantum Sporophyte

25.2017%8)- 2 T€ (MULTAN)




2017 (S) Roll No.
Number: 6461 INTERMEDIATE PART-I (11" CLASS)

PH[‘.H.;F Code ‘

BIOLOGY PAPER-I (OLDSCHEME)  (SESSION 2012-2014)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type gquestion as A, B, C and D. The choiee which you
think is correet, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cuttiag or filling two or more circles will result in zero mark in that question, Attempt as many questions
a3 given in abjective type question paper and leave others blunk. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.Na.l
(1) The unit of life is cailed:-

{A) Organ (B) Tissues (C) Organella (D) Cell
(2)  The Covalent Bond between two monosaccharide [s called:-

{(A) Peptide bond (B3) Phosphodiestes bond (C) Glycosidic bond (1)) lonic bond
(3)  The non-protein part which is Covalently bonded is called:-

(A) Prosthetic group (B) Coenzyme {C) Activator (D) Holoenzyme
(4)  Nucleus of the cell is discoversed by:-

(A} Robert Brown (B} Robert Hooke (C) Rudolph Virchow (D) Schwann
(5)  I'ne noncellular infectious protein is called:-

(A) Prion (B) Venome {C) Virodon (D) Genome
{6) Cocci are:-

(A) Red shaped (B) Oval shaped (C) Flamentous (1)) Spiral
(7} Trchonymphs is an example of:-

{A) Amoeba (B) Zooflagellates (C) Ciliates (1) Actinopodes
(%)  Lichens are mutualistic symbiotic association between Fungi and:-

{(A) Root (B) Algae (C) Stem (D} Leaves
(¥} The non vascular plants are:-

{A) Tracheophyta (B) Embryophyta (C) Bryophyta (D) Plerodophyta
(10] The animals which have a true coelom have been grouped under:-

(A} Acoclomata (B) Pseudocoelomata (C) Coelomata (D) Radiata
(11} Sycon belongs to phylum:-

(A) Annelida (B} Arthropoda (C) Porifera (D) Coelentrata
{12} The main photosynthetic pigment is:-

(A) Chlorophyll — a (B) Carotenoids () Xanthophylls (1) Chlorophyll - b
(13) "The dark reactions take place in the stroma of:-

{A) Xanthophyll (B) Carotenoid () Chloroplast (1D} Bacterda
(14) The animal that feeds on detritus 15 called:-

{A) Herbivores (B) Carnivores (C) Detritivores (D) Omnivores
(15) Respiratory organ of fish is:-

{A) Tracheae (B) Lungs () Gills (D) Adr sac
(16} Shirinkage of protoplast due to exosmosis of water is called:-

(A) Osmosis (B) Diffusion () Plasmolvsis (D) Guttation

(17) Presence of excess fluid in the tissues of the body 15 called:-

(A) Asthema (B) Trauma {C) Strokes (D) Oedemea

25(0b{(Tr)-2017(8)- 2. 7O (MULTAN)




Paper Cod .
it 2017 (S) Roll No.

Number: 6463_1 INTERMEDIATE PART-1 (11" CLASS)

BIOLOGY PAPER-I (OLDSCHEME) (SESSION 2012-2014)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correet, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank, No credit will be awarded in case
BUBRBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

Q.No.)

(17 The animal that feeds on detritus is called;-

(A) Herbivores (B) Carnivores (C) Detritivores (D) Omnivores
(2)  Respiratory organ of fish is:-

(A) Tracheae (B} Lungs (C) Gills (D) Air sac
(3) Shirinkage of protoplast due to exosmosis of water is called:-

(A} Osmosis (B} Diffusion (C) Plasmolysis (D) Gultation
(4)  Presence of excess fluid in the tissues of the bady is called:-

(A Asthemna (B) Trauma (C) Strokes (D) Oedemea
(3) The unit of life 15 called:-

(A) Organ (13) Tissues () Organella (1) Cell
(6)  The Covalent Bond between two monosaccharide is called:-

(A) Pepiide bond (B} Phosphodiestes bond (C) Glveosidic bond (D) Tonic bond
{7)  The non-protein part which is Covalently bonded is called:-

{A) Prosthetic group (B) Coenyme (C) Activator (D) Holoenzyme
(8) Nucleus of the cell is discoverad by:-

{A) Robert Brown {3 Robert Hooke (C) Rudalph Virchow (D) Schwann
(93 The noncellular infectious protein is called.-

{A) Prion (B} Venome (C) Virodon (D) Genome
{10}  Cocei are:-

(A) Red shaped {B) Oval shaped (C) Flamentous (D) Spiral
(11} Trichonymphs is an example of:-

(A) Amoeba (B) Zootlagellates (C) Ciliates (D) Actinopodes
(12) lichens are mutualistic symbictic association between Fungi and:-

(A) Root (B) Algae (C) Slem (D) Leaves
(13) The non vascular plants are:-

(A} Tracheophvta (B) Embryophyta (C) Bryophyta (D) Pterodophyta
{14) The animals which have a true coelom have been grouped under:-

(A) Acoslomata (B) Pscudococlomata (C) Coclomata (D) Radiata
(15) Sweon belongs to phylum:-

(AY Annelida (B) Arthropoda () Porifera (D) Coelentrata
(16) The main photosynthetic pigment is:-

(A) Chlorophyll - a (B) Carotenoids (C) Xanthophylls (1) Chlorophyll — b
(17) The dark reactions take place in the stroma of:-

{A) Xanthophyll (B Carotenaoid () Chloroplast (D) Bacteria

zsmhj){ﬁﬁ}-zun(s&g 7© (MULTAN)
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S e 2017 (S) Roll No.

 Number: 64 65 INTERMEDIATE PART-I (11" CLASS)

BIOLOGY PAPER-1 (OLD SCHEME) (SESSION 2012-2014)

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS:; 17
Note: You have four choices for each nbjective type question as A, B, C and D. The choice which vou
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles,
Cutting or filling iwo or more circles will result in zero mark in that question, Atempt us many questions
A8 given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.l

(1} Lichens are mutualisiic symbiotic association hetween Fungi and:-

(A) Rool (B) Algae {C) Stem (D) Teaves
(2)  The non vascular plants are:-
(A) Tracheophyta (B) Embryvophvta (C) Bryophyta (D) Pierodophyta
{3}  The animals which have a true coclom have been grouped under:-
iA) Acoelomata (B) Psevdocoelomata (C) Coclomata (D)) Radiara
{4)  Sycon belongs to phylum:-
{A) Annelida (B) Arthropoda (C) Porifera (D} Coelentrata
(3}  The main photosynthetic pigment is:-
(A) Chlorophyll — a {B) Carotenoids (C) Xanthophylls (3} Chlorophyll — b
(6) The dark reactions take place in the stroma of-
(A) Xanthophyll (B} Carotenoid {C) Chloroplast (1)) Bacteria
(7} The animal that feeds on detritus is called -
(A) Herbivores (B} Camivores {C) Detritivores (DY Omnivores
(8)  Respiratory orean of fish is:-
(A} Tracheae (B) Lungs (C) Gills (I¥) Air sac
(%) Shirinkage of protoplast due to exosmosis of water is called:-
(A) Osinosis (B} Diffusion (C) Plasmolysis (T3 Guttation
{10} Tresence of excess fluid in the tissues of the body is called:-
(A) Asthema (B} Trauma (C) Strokes (D) Oedemsa
(11} The unit of life is called -
(A} Organ (B) Tissues (C) Organella (D) Cell
{12} The Covalent Band between two monosaccharide is called:-
(A) Peplide bond (B) Phosphodiestes bond (C) Glycosidic bond (D) Ionie bond
(13) The non-protein part which is Covalently bonded is called:-
{A) Prosthetic group (B) Coenzyme (C) Activator (D} Holeenzyme
(14)  Nucleus of the cell is discovered by:-
(A} Robert Brown (B) Robert Hooke (C) Rudolph Virchow (D) Schwann
(15) The noncellular infections protein is called:-
(A) Prion (B) Venome (C) Virodon (D) Genome
(16) Cocel are:-
(4] Red shaped {B) Oval shaped (C) Flamentous (D) Spiral

(17} Trichonymphs is an example of:-

(A) Amoeba (B) Zoollugellates (C) Ciliates (D) Actinopodes
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{).No.1
(1) Nuecleus of the cell is discovered by:-

(A) Robert Brown (B) Robert Hooke (C) Rudolph Virchow (1)) Schwann
(2)  The noncellular infectious protein is called:-

(A) Prion (B) Venome (C) Virodon (D) Genome
(3) Coceiare:-

(A) Red shaped (B) Oval shaped (C) Flamentous (D) Spiral
(4)  Trichonymphs is an example of:-

(A) Amoeba (B) Zoofagellates (C) Ciliates (D) Actinopades
(5)  Lichens are mutualistic symbiotic association between Fungi and:-

(A) Root (B) Algae (C) Stem (D} Leaves
(6) The non vascular plants arc:-

(A) Tracheophyta (B) Embryophyta (C) Bryophyta (1Y) Pterodophyta
(7)  The unimals which have a true coelom have heen grouped under:-

(A) Acoelomata (B) Pseudocoelomata (C) Coelomata (D) Radiata
{8) Sycon belongs to phylum:-

(A) Annelida (B) Arthropoda (C) Porifera (D) Coclentrata
(9 The main photosynthetic pigment is:-

(A) Chlorophyll —a (B} Carotenoids (C) Xanthophylls (T Chlorophvll — b
{10y  The dark reactions take place in the stroma of:-

(A) Xanthophyll (B) Carotenoid {C) Chloroplast (D) Bacteria
{11) The animal that feeds on detrits is called:-

(A) Herbivores (B) Carnivores (C) Detritivores (D} Omunivores
(12) Respiratory organ of fish is:-

(A) Tracheae (B) Lungs (C) Gills (D) Air suc
(13} Shirinkage of protoplast due to exosmosis of water is called:-

(A) Osmosis (B) Duttusion {C) Plasmaolvsis (D) Guitation
(14) Presence of excess fluid in the tissues of the body is called:-

(A) Asthema (B) Trauma (C) Strokes (D) Oedemea
(13) 'The unit of life is called:-

(4) Organ (B) Tissues (C) Organella (D) Cell
(16) The Covalent Bond between two monosaccharide is called:-

{A) Peptide bond (B) Phosphodiestes bond () Glycosidic bond (D) Tonic bond

(17) The non-protein part which is Covalently bonded is called:-
(A} Prosthetic group (B) Coenzyme (C) Activator {D)) Holoenzyme
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